DUSEL

INSTALLATION MANUAL

1\ [ 111 1V

——

%00

20588
00000
00000
00000
00000
ooooo
ooooo
‘‘‘‘‘
ooooo

DSC-DUS15-1205R
800X1200X2180MM



Al A5

|
LA

A20

A6 A10

A11 Q A2 jﬂ Al3 Al4 INE
2pcs z @

4 |[|=2|| ~

o|f @
Connect| hot wat . Connec? cold||water
Al6 A17 A18 Al9 A20
—
= || %= | &

Ipcs M4x10 30pcs|
A21 A22 % A24 A25 A26 =
M4x14 4pcs M4x14 4pcs z F \

Hot water Control hand shower

Control top shower

v
\T%ntro foot massager

r\ Switch Control sharp massager
=

@ ——]
\

0 Using-instruction for showerroom
C -

Cold water

1. open the switch, it can a djust the hot and cold water by turning into right and left,
-it is fine when you feel the temperature is ok.

3mm Diometer Drill  Bit
2. Turning the adjuster ,it can control water running from the hand shower ,foot

-massager,sharpmassager and top shower.

3. The hydraulicpressure is 0.4 Mpa-in everypart.

4. Please turn off the power and switch of the showerroom after you usedit.

5. Please swab the shower room with soft cloth,it will keep new.The front and back
of shower room are high - quality tampered glass;please don'timpactit.




Al6

Al2 jﬂ

Al3

Al4

Al5 T

Al17

A24

(&




N

A25

9

A

4pcs 4pc

A8

i

X

)

g

M4x14 4pcs

A22

A5

A9

Z_ || _[5
"%

A4

M4x14 4pcs

e

| | [

Al




	页 1
	页 2
	页 3
	页 4

